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HERAIEX 1| 95961 BnE 2,400 799 avsU—+% (AR KETVH A SRE
HERAIEX 2| 95962 AWME 2,400 92.0| av2U—+% (AW KETVH A SRAE
HERAIEX 3| 122836 AWmE 2,400 884 avsU—+%E (AW KETVH A SRAE
HERAIEX 4| 106286 AARE 2,400 57.0] arsu—+% (AR KETVH A SRE
HERAIEX 5| 49591 AWE 2,400 1111 a>»2U—+& (AR KETVH A SRE
HERAIEX 6| 49789 AWE 2,400 1000 v 2 U—+&E (FF) KETVH A SRAE
HERAIEX 7| 49792 AWME 2,400 1350 av2U—+&E (AF) KETVH A SRAE
HERAIEX 8| 106285 AAE 2,400 55.1] ar2sU—+% (AR KETVH A SRAE
HERAIEX 9] 49791 AWME 2,400 767 avsU—+%E (AR KETVH A SRAE
HERAIEX 10| 101697| &%E 2,400 1185 v 2 U—+&E (AF) KETVH A SRAE
HERAIEX 11| 49524 &%E 2,400 1330 av2U—+E (AR KETVH A SRAE
HERAIEX 12| 505480 &%E 2,400 306 avsU—+%E (AR KETVH A SRE
HERAIEX 13| 125505| &%E 2,400 51.7) arsu—+% (AR KETVH A SRE
HERAIEX 14| 510915 &%E 2,400 222 avsU—+%E (AR KETVH A SRAE
HERAIEX 15| 505482| &A%E 2,400 255 avsU—+%E (AR KETVH A SRE
HERAIEX 16| 62895 A%E 2,400 1300 v 2 U—+&E (AR KETVH A SRAE
HERAIEX 17| 125504| &%E 2,400 240.00 a2 U—+% (AR KETVH A SRE
HERAIEX 18| 122113| BKE 2,400 303 av2U—+%E (AR KETVH A SRE
FhERALIRX 1| 92222 &nE 2,000 928 avsU—+%E (AR KETVH A SRE
FhERALIRX 2| 92223 AWME 2,000 357 avsU—+% (AR KETVH A SRE
FhERALIRX 3| 92225 AWE 2,000 124 arysu—+% (AR KETVH A SRAE
FhERALIRX 4 92883 AWRE 2,000 430 a2 U—+E (AR KETVH A SRE
FhERALIRX 5] 92884 AWmE 2,000 468 a2 U—+E (AR KETVH A SRE
R ERALIR X 6 92885 AWE 2,000 61.6] a>2U—F+& (FF) WEZHREDR
FhERALIRX 7] 92886 AWME 2,000 16.7] ar2su—+% (AR KETVH A SRAE
AR ERALIE X 8 92887 ARE 2,000 99| av /s U—+&E (M) KETVH X SHAE
FhERALIRX 9] 92889 AWME 2,000 404 a2 U—+E (AR KETVH A SRE
FhERALIRX 10| 92890| &%E 2,000 406 a2 U—+E (AR KETVH A SRE
FhERALIRX 11| 92891 &%E 2,000 86.6| I/ U—F+% (AR KETVH A SRAE
FhERALIRX 12| 92893| A%E 2,000 386 avsU—+%E (AR KETVH A SRE
AR ERALIE X 13 92894 ARE 2,400 49| avsU—L+E (GEFR) KETVH X SHAE
R ERALIR X 14 92895| AWE 2,400 498 avsU—+E (FER) WEZHREDR
AR ERALIE X 15 92896 AME 2,400 644 a>oU—+E (B REEHRER
AR ERALIE X 16 92898 AME 2,400 367 Ao U—+&E (ER) REEERER
FhERALIRX 17| 92899 A%E 2,400 1086 a2 U—+&E (4B WEEFHER
FhERALIRX 18| 506033| &A%E 2,400 342 avsU—+%E ER) WEEFHER
FhERALIRX 19| 92900| &%E 2,400 1132 av2U—+& (4ER) WEEFHER
R ERALIR X 20 92901| AWE 2,400 106 ov2U—F+E (4BEF) WEZHEDR
FhERALIRX 21| 93336| ARE 2,400 1471 v 2 U—+&E (ER) WEEFHER
T ERALIRX 22| 93347 &kE 2,700 156.2| a»2U—+&E (4B WEEFHER
FhERALIRX 23| 510817 &kE 2,700 1383 a2 U—+&E (BF) WEEFHER
R ERALIR X 24 93359| AWE 2,700 194 v o U—+E (JEF) WEZHEDR
R ERALIR X 25 93509| AWE 2,600 280 avsU—+E (AF) WEZHEDR
AR ERALIE X 26| 510818| &RE 2,600 82 av/sU—t+&E (M) REEERER
R ERALIR X 27 93517| AWE 2,750 920 avsU—F+E (W) WEZHEDR
T ERALIRX 28|  93518| AkE 2,750 1110 v 2 U—+& (4ER) WEEFHER
R ERALIR X 29 93519| AWmE 2,750 195 o> 2 U—+E (EF) WEZHREDR




hEpnBR | 30] 120131 AwE 2,750  222] arsU—t+E GER) REBEHERD
hpEx | 31 120132] AwmE 2,750 34 avou—+E (AR KETVH X 7 HE
FEBALIRX 32| 120129 &WE 2,750 55| avsU—+E (BB WEEHERD
hEpnEx | 33 120130] AwE 2,750  17.0] arsU—+E GER) BEBEER
hEpnBR | 34| 93671 AwmE 2,000  234] arsU—t+E (AR REBEER
shEpinBX | 35| 93569 AwE 2,000 274 arzu—tE (AW RETVH A 5 BE
hERMBR | 36| 511355] AwmE 2,000 24 avoU—+E (AR RETVH A 5 BE
shEpBx | 37| 93668] AwmE 2,000 6.1 avsu—r&E (AW KETVH A 5 BB
shEpniBx | 38| 510819 AwE 2,000 23] avou—+E (AW AETVH A 5 BB
hEpniBR | 39| 93284 AmE 2,000  486] avsU—+E (AR RETVH A 5 BE
RERUBR | 40| 93285 AmE 2,000 5.0 avsu—+E (AW RETVH A 5 BE
B | 41 120400] AwE 2,000  609] avsU—+E (AR REBEHERD
hgmER | 42| 93200] AwE 2,000  575] arsU—t+E (AR REBEHERD
pEpuBR | 43| 93370 AmE 2,000  447] avsU—+E (AR RETVH A 5 BE
hEmIBR | 44| 93483] AwmE 2,000  5L1] arsU—t+& (AR REBEHERD
PERUBX | 45| 93484 AmE 2,000  100] arsU—+E (AR KETVH A 5 BE
RERUBR | 46| 93485 AmE 2,000 431] arsU—t+E (AR AETVH A 5 BE
ERMIEBR | 47| 93487 AWE 2,000  523[ arsU—t+E (AR KETVH A 5 BE
pEpLBX | 48] 93488 AwmE 2,000  562] arsU—+E (AR KETVH A 5 BE
PERLBR | 49| 93489 AmE 2,000 59.7] arsU—t+E (AR KETVH A 5 BE
hEpniBR | 50| 93528] AwE 2,000  282] arsU—+E (AR REBEER
hEpnBR | 51 501200] AwE 2,000 131] arsU—t+& (AR BEBEER
hgpnBR | 52| 93529 AwmE 2,000  338] arsU—t+E (AR KETVH A 5 BE
hpnEx | 53] 93530] AwmE 2,000  466] arzU—tE (AW KETVH A 5 BE
hEpBR | 54| 93831 AwmE 2,000 487] arsU—t+E (AR REBEER
hEpBRE | 55| 93532 EAE 2,000  289] arsU—t+E (AR RETVH A 5 BE
hEpnBR | 56| 93271 AwmE 2,000 33 avsu—+E (AW KETVH A 5 BE
hgpER | 57| 93272] AwmE 2,000  647] arsU—+E (AR KETVH A 5 BE
hpnBx | 58| 93287 AwmE 2,000 242] avsU—+E (AR KETVH A 5 BE
hEpnBx | 59|  93288] AwmE 2,000 70| avsu—+E (AR BEBEER
hEpBR | 60| 121794 AwmE 2,000 1038] arsU—t+E (AR KETVH A 5 BE
hEpnBR | 61]  93570] EAE 2,000  220[ arsU—t+E (AR KETVH A 5 BE
hEpBR | 62| 107157 EAE 2,000 1519] arsU—t+&E (AR KETVH A 5 BE
hEpinBR | 63| 506456 EAE 2,000  696] avsU—+E (AR RETVH A 5 BE
hERMBR | 64| 107151 EAE 2,000 1853] arsU—t+&E (AR KETVH A 5 BE
hipniER | 65| 121782 Bk 2,000  201] arsU—t+E (AR AETVAH A 7 HE

R ERALE X 1 517831 BkE 2,000 498.8] A s U—+E (AR RETVH A ZBE (%)
FIERALEX 2| 517836| HAE 2,000 1186] arsU—+E (AR RETVH A FHE (B3%)
FIERALEX 3| 58812 HAE 2,000 2380] arsU—t+E (AR RETVH A ZHE (B3%)
R ERALEX 4] 517837 HAE 2,000 1179] arsU—t+& (AR AETVH A FHE (%)
FIERALEX 5| 58813 EAkE 2,000 681 arsU—t+E (AR AETVH A FHE (B3%)
FIERALEX 6| 57627 BkE 2,000 1470[ arsU—t+E (AR KETVH A 5 BB
FIERALEX 7| 49477 Bk 2,000 155.0] a4 U—+&E (AR RETVH A 5 BE
FIERALEX 8] 49478] 2,000 195.0] arsU—+E (AR AETVH A 5 BE
FIEBALEX o| 48393] HAE 2,000  900[ arsU—+E (AR RETVH A 5 BE
FEAIBR | 10[  48394] EAkE 2,000  919] arsU—+E (AR KETVH A 5 BE
FEAIBR | 11 48395 AAKE 2,000  369] arsU—t+E (AR RETVH A 5 RE




